Subject: Mathematics

Grade: V

QUESTION PAPER

SET-4

Ch-1
5_28 The fish 30 tens + 6 thousand is equal to C
MATHEMATICS tale
1 Answers Options
Option A Option B Option C Option D
9915
3600 6030 6300 9000
Ch-1 In all, how many 3-digit numbers
) are there which have 5 in the
2 5 28 The fish - B
- units' place?
tale
Mathematics
Answers Options
9942 Option A Option B Option C Option D
10 90 99 100




Ch-1 Which number is 100 more than B
23467
529 The fish
_ | tale

Mathematics

Answers
11527 .

Options

Option Option B Option C Option D

A
2246 2446 2356 3346
Ch-1
319 -
- The fish What number should come A
MATHEMATICS | tale in the empty box to make
the statement true? 55+300-60+45=_+240
2622
Answers Options
Option A Option B Option C Option D
100 240 300 400




The numbers 1, 2, 3, 4, 5 etc. are called
Ch-1 natural numbers. D
The fish | Which of the following can be written
tale as the sum of three DIFFERENT natural
5_27 numbers?
MATHEMATICS
8263 Answers Options
Option A Option B Option C Option D
3 4 5 6
The population of 4
small towns are shown
below: | A
Ch-1 TOWNA TOWNB TOWNC TOND
The population of 9568 | | 8606 | | 9656 ] | 9068
The fish | which town is CLOSEST
527 tale to nine thousand six
Mathematics hundred?
8267
Answers Options
Option A Option B Option C Option D
Town A Town B Town C Town D




Ch-1
5_27 The fish 8 thousands + 7 tens = 6 thousands + ____ D
tale
Mathematics tens
8274
Answers Options
Option A Option B Option C Option D
17 27 107 207
Ch-1
5 27 The fish 60+70+80+90=(6+7+8+9) x (what A
tale number?)
Mathematics
Answers Options
8265
Option A Option B Option C Option D
10 40 1000 10000




9 If the thousands and the tens digit of the number C
9372 are interchanged, by how much does the
Ch-1 value of the number change?
The fish
5 27 tale
Mathematics
8286
Answers Options
Option A Option B Option C Option D
2000 1990 1980 100
Ch-1
10 The fish What number is represented 7 ' ' | B
tale by the arrow in the number | |
5 28 line below? o7 0 00 250
Mathematics
Answers Options
9917 Option A Option B Option C Option D
5101 5125 5145 5149




Ch-1
11 The fish | What number d pefl o ] e § D
tale should be put in START » ) b ) » 1)
5 27 the START box
of the figure
Mathematics below to end up
with 50?
8294
Answers Options
Option A Option B Option C Option D
40 46 50 60
CH-1 ‘
12 The Which of the following would be the correct 9107 D
5 97 fish way to find the missing digit '?' in the| =1219
- tale subtraction shown below. 77 88
Mathema
tics ‘
8290 Answers Options
Option A Option B Option C Option D
subtract 1 from 7 subtract 7 from 11 Subtract 0 from 7 subtract 7 from 10




Ch-1
13 The Five thousand six hundred and ninety D
Fish Which of the following
5 26 Tale numbers is between the two Five thousand and ninety six
B numbers given in the box?
Mathem
atics
1751 -
Answers Options
Option A Option B Option C Option D
5906 5069 5960 5609
Ch-1
14 5.26 The Fish | Which of the following has the LEAST value? D
Mathem | Tale
atics
Answers Options
1749
Option A Option B Option C Option D
7 hundred thousands 7 ten thousands 7 thousand 7 hundred
Ch-1
15 The Fish Tale Which two numbers in the 67 ‘48 ‘ 13 |85 | 130 D
319 box below have a difference
MATHE of 18?
MATICS : ‘
Answers Options
2650
Option A Option B Option C Option D
48, 67 113, 130 85, 130 67, 85




